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Ex/Phil/UG/3.2/24/2018

BACHELOR OF ARTS EXAMINATION, 2018

(2nd Year, 3rd Semester)

PHILOSOPHY

Metaphysics (Western)

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

Use a separate Answer-Script for each group.

Group - A / øıˆ¬±· - fl¬

1. How do the logical positivists try to deny the possibility of
metaphysics ? Discuss. 10

Œ˚ÃøMêfl¬ √õ∂Ó¬…é¬ı±œı˛± fl¬œˆ¬±Àı ’øÒøı…±ı˛ ¸y¬±ı…Ó¬±Àfl¬ ’¶§œfl¬±ı˛

fl¬Àı˛Ú ∑ ’±À˘±‰¬Ú± fl¬ı˛º 10

Or / ’Ôı±

2. Discuss interactionism as a theory of the relation between
mind and body. Do you consider it to be an adequate
theory ? Discuss. 5+5=10

˜Ú › ŒÀ˝ı˛ ¸•Ûfl«¬ øı¯∏˚˛fl¬ Ó¬MWı˛+À¬Û øSê˚˛±-√õ∂øÓ¬øSê˚˛±ı±Àı˛

’±À˘±‰¬Ú± fl¬ı˛º Ó≈¬ø˜ øfl¬ ¤øÈ¬Àfl¬ ¤fl¬øÈ¬ ˚Ô±˚Ô Ó¬MWı˛+À¬Û ¶§œfl¬±ı˛ fl¬ı˛∑

’±À˘±‰¬Ú± fl¬ı˛º 5+5=10
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Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

3. State identity theory as a version of reductive materialism.
5

¬Û˚«ı¸±Ú˜”˘fl¬ Êh¬ı±-¤ı˛ √õ∂fl¬±ı˛ı˛+À¬Û Ó¬±±R… Ó¬MWøÈ¬ Î¬◊¬Û¶ö±¬ÛÚ fl¬ı˛º

5

Or / ’Ôı±

4. What do you understand by the absolutist theory of space ?
Discuss. 5

Œ˙ øı¯∏˚˛fl¬ ‰¬ı˛˜ Ó¬MW ı˘ÀÓ¬ Ó≈¬ø˜ øfl¬ Œı±Á¬ ∑ ’±À˘±‰¬Ú± fl¬ı˛º 5

Group - B / øıˆ¬±· - ‡

5. What is a cause according to Mill ? Discuss critically. Is there
any problem in conceiving cause as an event which invariably
precedes another event ? Discuss. 8+2=10

ø˜À˘ı˛ ˜ÀÓ¬ fl¬±ı˛Ì ı˘ÀÓ¬ fl¬œ Œı±Á¬± ˛̊ ∑ ¸øı‰¬±ı˛ ’±À˘±‰¬Ú± fl¬ı˛º fl¬±ı˛Ì

ı˘ÀÓ¬ ˚ø ¤˜Ú Œfl¬±Ú› ¤fl¬øÈ¬ ‚È¬Ú±Àfl¬ Œı±Á¬± ˝˚˛ ˚± ı…øÓ¬Sê˜˝œÚ-

ˆ¬±Àı ’¬Ûı˛ ¤fl¬øÈ¬ ‚È¬Ú±ı˛ ¬Û”Àı« øı…˜±Ú Ô±Àfl¬, Ó¬±˝À˘ øfl¬ Œfl¬±Ú›

¸˜¸…± ˝Àı ∑ ’±À˘±‰¬Ú± fl¬ı˛º 8+2=10
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Or / ’Ôı±

6. What is determinism ? Is there any difference between
determinism and fatalism ? Discuss two arguments against
determinism. 2+2+6=10

øÚ˚˛LaÌı± fl¬œ ∑ øÚ˚˛LaÌı±Àı˛ ¸±ÀÔ ’‘©Üı±Àı˛ Œfl¬±Ú› ¬Û±Ô«fl¬… ’±ÀÂ

fl¬œ ∑ øÚ˚˛LaÌı±Àı˛ øıèÀX¬ ≈øÈ¬ ˚≈øMê ’±À˘±‰¬Ú± fl¬ı˛º

2+2+6=10

Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

7. Can it be established by experience that there is necessary
relation between cause and effect ? Discuss. 5

fl¬±ı˛Ì › fl¬±À˚«ı˛ ˜ÀÒ… ’±ıø˙…fl¬ ¸•§g¬ øfl¬ ’øˆ¬:Ó¬±ı˛ Z±ı˛± √õ∂˜±Ì

fl¬ı˛± ˚±˚˛ ∑ ’±À˘±‰¬Ú± fl¬ı˛º 5

Or / ’Ôı±

8. Mention any two points of difference between Plato’s theory
of Universal and Aristotles theory of the same. 5

¸±˜±Ú… øı¯∏À˚˛ Œõ≠ÀÈ¬±ı˛ Ó¬MW › ’…±øı˛à¬È¬À˘ı˛ Ó¬ÀMWı˛ ≈øÈ¬ ¬Û±Ô«fl¬…

Î¬◊À{°‡ fl¬ı˛º 5

—————
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